8 by 8 More or Less

Place the number 1 to 8 such that each row and column contains the digits
1 to 8. More or less symbols are placed between some of the cells indicating
that numbers must be higher or lower than a neigbouring cell.

<| 5|6 > 2 < <| 8 [>| 1
A v A
|7 kls || » 1 €
A A
5 K| |2 4 >
A v A A
8 3 > Pl 2
A A A v A
1 5 2 K
v A v v v
2 >« 8 > > 3
A v v v A A
> 2 k| 4 <|3 K 8
v A A A A v
6 €| 8 <|3 K
4 <| 6 2 €
A A v A A
<| 6 < 4 2 K
v A A v A
8| |4pP 7116 P 3
v v A
2kl || P <l 4k
v v A A
6> 2| |4 <|7Pp|5
A v A v v
> 10« 8> 7>
A A v
3 > 8 > >
A v v A v A
5 |> <2 k| k|8 l|>|6
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Answers

Place the number 1 to 8 such that each row and column contains the digits
1 to 8. More or less symbols are placed between some of the cells indicating
that numbers must be higher or lower than a neigbouring cell.

3K|5K|61[> 4 2 |7 K|8[> 1
A v A
6 3|7 K|8 >4 > 2 1 K| 5
A A
5|8 > 2 1 6 41> 3 7
A v A A
8 4 1 3 7 625 > 2
A A A Vv A
4 1 3 7 5 8 2 €| 6
v A v v v
2 7125 K|6 8 > 1 4 1> 3
A Vv Vv v A A
7122 K| 4 5 11| 3 K| 6 8
v A A A A v
1 6 €| 8 2 K3 KI5 7 4
4 3 1|6 5 8 2 K| 7
A A v A A
51|16 1(<|8 4 7 2 |3 1
v A A Vv A
8 4 1> 2 7 6|5 1 3
v v A
6122|7125 1(>3 1 K14 || 8
v v A A
1 8 6|22 4 37?5
A v A v v
212115 3 8|7 > 6 4
A A v
3 7124 81> 1 6 25 2
A v VI N v A
7 5123 11€|2€|4 K| 8 |> 6
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